SHADOW Model: SB-LP

Installation Instructions

MAX Load: 11 Lbs.

Parts
-
:T
0 (A-1) M5x14 screws(x2) (A-2) M5 nuts (x2)
= s
(B-1) M6x14 screws(x2) (B-2) M6 nuts (x2)

(x2) S =0

(C) M5x45 Self-tap Screw(x4) (D)8x40 Plastic Anchor (x4)

STEP 1

/ pommo31)

50mm

#3mm(0.12")

D
mﬂete Mounting

STEP 2
A1/B1
oy — D |
Loudspeaker
STEP 3

ole»

]

U £70° UP 10° DOWN 10°




